EAGRAROBREERT — 2 N— ABISH —F

202113308 (&) 1E43RIH

m-lf—;-% 3 KEF tcEES ‘ [Xiz] % ‘ [eEmsm] — | & (&) 12000 &
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N 4 3 | BEAS 1:12.6 9-8 37.1] 822 | 1 476 | BOEN (ER)
1 @ 10| T—V/T - 54.0 o 8 fefagnsE
R:zkArTYa—> B:3TUYYY HET 7 — L
N AILEAT 112, — . . allkE (ER)
2 4| TARUT 4t 3 e 1(712t§s 6-6 37.4| 8.3 | 2 (4_624) il
xS BTARAT— [E]=sEae
N o IRFERE . = PARE (BEXR)
3|gl14| 1 EZINEFZ [B] e ey ool e T ‘Ef;f EMARL
LB/ LI BiAAYa3uFLFT =ite]
; g e 4 3 | FHEEZ 1:12.8 3-3 38.0| 80.6 | 5 442 | TS (RR)
4\7 12| I T F = 54.0 (1 1/4) © |WERg
Y92G5 B:7>747)—-X miE BE
— s =Y 112, — . . #ZIUERE (EXR)
5 5 X542 [B] % 3 5:—:47) 1(11/22)9 8-8 37.5|79.6 | 11 (430) :FiiB;
Y9G T BNIVE—F N T =5
4 3 | fEAKH— 1:13.1 9-8 37.6|77.8 | 3 446 | BAE (ER)
6 2 Y 53.0 (1 1/4) (-4) =
L:O—KHF0O7 B:4AVESRL—> TAXREy Figtatt
4 3 | REMEIZ 1:13.1 1-1 38.6| 78.2 | 10 480 | BiETE (ER)
1 > IR 54.0 nF) g | (A) =iets
LTANNTTFH— Biyr—s—L—Th e
S S N # 3 | BHF 1:13.4 2-2 38.9| 75.7 | 6 440 |BR (ER)
8 6 T === 54.0 (@) @) | (A) Ki#TF—L
LNZ=NIL R B:T7pRNL—> TFERAKS
B 3 | HEZX 1:13.7 4-5 38.8| 73.1| 9 462 | MIAE (RW)
9 11|AXx—0 54.0 (11/2) ) |FEETE
LHIRT TR BNFAF) > FIER  SRTDE
4 3 | EEEH 1:13.7 12-11 38.0| 72.4 | 8 458 | HEH— (RR)
1) 2 FAR 2aENES 54.0 (75%) (-2 |BIIE
R:7UF—v B:XM1E—bY>ay HE 1#
R R Rtk — : — THET (FER)
1lglis TVHT vz it 3 Jexs 1(.11/32.>a 6-6 385 71.9 | 4 3528) é?kIEg
R:27)—-re—A—- B:EXx=JOCK J=HrTp—L
s ft 3 | PHBEZ 1:13.9 15-15 | 37.2 | 70.3 | 13 | 466 |/IF#8Z (E=)
12(5/9| h—FTTT il 54.0 (3/4) Lo |EEUE )
R:T4 7 bT—EY B:T7RIIYT7E-—L BHR&t 754 KOy Y
.= BEEE :13. - . . BRI (ER)
13/5] 8 O—+354 b+ [B] 4 3 54_05 1(*713&‘9 9-11 38.4| 71.0 | 12 zzg;) ;Hfﬁf;
¥ XS BT TLAR TEHS
S, [© SEIRER 114, = . . REH= (FER)
1al7l13l v F7UIL 4t 3 e 1(164)9 12-11 | 39.1] 62.9 | 15 «zg? pas
RO—Y XA X4 B:b=—T774—T/N— BEXZY K
5 = it 3 | EoEE 1:15.5 12-14 | 39.7| 58.6 | 14 | 460 |ZEMBE (FF)
15011 1 oaAMTIT T 54.0 (3 1/2) (+6) i&l:lﬂ%%
R:A4aoyLyy B:4—-E-V-—> EEick et
@ 21 L
£ 49.6-38.1
NA> 24 L | 12.4-10.6-11.5-12.5-12.4-13.2
® I—F—@EBIERL
13—=7—
2al=5"=
Ja=77= (x3,6)-12(11,14) (4,15)5(2,8,10) (1,7,13)=9
43—+ — (¥3,6) (12,14)11(4,15) (2,5,10)-(7,8,13)-1-9
[ N5
B 10 310 714K 4-10 390 e E 3-6 680 EE 4-10-14 4,580
B B 10 140M 10-14 1,390H B = 4-10 860M 3EE 10-4-14 17,310H
4 1509 4-14 1,070H B H 10-4 1,490
14 530M

ABRICOVTHRTEEERROODE, THEB LS,




